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[ 6.3.3] FENEH a & b EIZDLT,
la| <b <= —-b<a<b,
la| <b <= —-b<a<b,
la| >b <= a>b F=lF a<-b

la| >b <= a>b Ffl& a<-b

COEEEZRAVNSE, BABRESIRNIFTEXNLERNEGHEICRTI L
BH5.



Bl ZS o BT EFRER |20 -1|-4<z EREL



Bl EH o BT RFER [20-1]-4<z EREL.
20 —-1|-4<z <= |[2z—1|<x+4



Bl EH o BT RFER [20-1]-4<z EREL.
20 —-1|-4<z <= |[2z—1|<x+4
= —(z+4)<2x—-1<z+4
FEDE#H o & b LIZTDOWVT, |aj<b & -b<a<b.



Bl EH o BT RFER [20-1]-4<z EREL.
20 —-1|-4<z <= |[2z—1|<x+4
= —(z+4)<2z-1<z+4
— —(r+4)<2z-1 D 2z—-1<x+4



Bl ZS o BT EFRER |20 -1|-4<z EREL
20 —-1|-4<z <= |[2z—1|<x+4
= —(z+4)<2z-1<z+4
— —(r+4)<2z-1 D 2z—-1<x+4
= -3x<3 D <5
=

r>1 D <5



Bl EH o BT RFER [20-1]-4<z EREL.
20 —-1|-4<z <= |[2z—1|<x+4
—(r+4)<2z—-1<zx+4
—(z+4)<2x—-1 D 2z—-1<x+4

—

—

— -3r<3 D <5
— z>1 MDD z<5
—

l<x<b.



Bl EH o BT RFER [20-1]-4<z EREL.
20 —-1|-4<z <= |[2z—1|<x+4
—(r+4)<2z—-1<zx+4
—(z+4)<2x—-1 D 2z—-1<x+4

—
—

— -3r<3 D <5
— z>1 MDD z<5
—

l<x<b.
BEAoN=FERXZHELLE —1<z<h .



LELERDERICFAERSZEVTREY :
20 —-1|—-4<z,
20 —1|<x+4,
—(x+4)<2zx—-1<x+4,
—(x+4)<2x—-1 ™MD 2z—-1<z+4,
—3r<3 hDx<5,
z>—-1 D <5,
-l<z<5.

RERLS ZEVTLRMEEMTHA I LITERET S L.



RIGHEFE2.1| % o ISBT 2 FERK (30— 4|+20 <5 ERIT.
TERK |3z—4|+22<5 &,

|3z —4] < :
<3x—4<
FEAK <3rxr—4 *HE<: < Loz CAEK 3r-4<
R < - < ., D BIT. BRbnERFERXREHEC L



RIGHEFE2.1| % o ISBT 2 FERK (30— 4|+20 <5 ERIT.
TERK |3z—4|+22<5 &,

13z —4] <5—2z |
—(5-22)<3r—4<5-2z .
TERX —b—20)<3r—4 ZE<: —2<1, z>-1. FFHK 3r-4<5-22
EMC: h0<0, o< IS BADNKFEREMCE 1<o< )@



0522 ZEH « (BT HFRERX 2/v—4|<32-5 ERET.
TERX 2u—4|<32-5 &£V,
|22 — 8| <
<2r—8<
&R <2x—8 T < , T . TER

20 — 8 < =g < - < oz CBRIZ, BEAonEFAEREEL
E, M2 z ., DFY



G722 s o ST 2FER 2(2—-4|<32-5 &R
FER 2r—4|<32-5 &Y,

|20 —8] <3z—5 .
—(Bzx—5)<2x—-8<3x—5.

FERX ~(Bo-5)<20-8 EM<: Dr< 13, >0 . FER
20 —8<3x—5 #fL: —x<3, z>-3. W, EAoNEFERXEHEL
&, x>1—53 hD z>-3, 2FY x>?. #®



Bl EH o BT BFER (3010 —2>2 E#EL.



Bl EH o BT BFER (3010 —2>2 E#EL.
3z —10|—2>2 <= |3z—10|>x+2



Bl EH o BT BFER (3010 —2>2 E#EL.
3z —10|—2>2 < [3z—10|>x+2
— 3x—10>x+2 FIlE 3z-10< —(z+2)
FEDOE#H o & b LIZTDWVT, |a|>b <= a>b FflFd a< b .



Bl % o BT BFRER (32 -10] -z >2 EEL.
|32 10| —2>2 <= |[3z—10|>2+2
= 3z-10>2+2 FlE 32-10< —(v+2)
— 20>12 F=1E 42 <8

= zz>6 F=X z<2.



Bl % o BT BFRER (32 -10] -z >2 EEL.
|32 10| —2>2 <= |[3z—10|>2+2
= 3z-10>2+2 FlE 32-10< —(v+2)
— 2r>12 FfIlF 40 <8

= zz>6 F=X z<2.
W2, BERAoN-FAEAEMHECLE, 2>6 FiE 2<2 .



LELERDKRICEERLREZENTRT -
[8z —10|—2 > 2,
[8z—10| > x+2 ,
3r—10>x+4+2 FE 3z-10< —(z+2) ,
20 >12 FilE 4o <8,
r>6 Ff=F 2<2.
FEERESZEVTLRBERTHLI_EITTRET H L.



RIGHE7E2.3 8 o ISBIT 2 FERX (30— 7| +20>8 ERIT.
TERK |32—-T7|4+22>8 &,

|3z — 7| > ,
3r—7> Fr-lE 3z-7<
FER 30-7> @< >z CARER 32-7<
< WIS, BaohE=FREXEMEL &,



6523 ZH « BT HFRERX 307 +20>8 ZRET.
TER 32-7|+22>8 &V,
132 —7|>8—2z ,
3r—7>8-2r FflE 30-7< -(8-2z) .
TERK 30-7>8-22 ML :5x>15, x>3 . FAFERK 32 -7< - (8—21)
TR o< -1 . &I, BAGnETREREHCLE, o< -1 FF 2>3 .
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oo T8 o (CET RS '””;7' e 4 ERI

= #>x—4 VY,

|z =7 > ;
T—T7> F-lE 2-7<
FEK 27> =iz < : > . T CARER 2T <
=R < < . T DB, BEaon-AELEECLE,

. PFY

ERFS



Moz EM o ST BRER '””;7' Srod4 BB
T —|I;7|>x—4 &Y,
|t —7|>2x-8,
x—T7>2r—-8 FF z—-7<—-(22-8) .

TER 2-7>22-8 ZfE<: —z>-1, z<1. FEFHK 2-7T<—-(22-38)
=< 3x <15, z<5. WIZ, EZAohE=FTEREMCE, 2<1 F=&
<5, DFY z<5H. #



